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wog - 31 / SECTION - A

i‘lﬂﬁlﬁ YT / Objective Type Questions
oy ST 1/ 100 wtm%mﬁﬁmﬁvw#ﬁﬁﬁﬁﬁw
¥ fel¥ 50w & gwe o grT g7 T W@ fwew w oMR ¥ie I Fafe
wti 50x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct.
Answer any 50 questions. You have to mark your selected option on the

OMR-Sheet. 50 x1=50
1. e & i s
(A) Efed EWR (B) Hunisd NI
(C) wrufys IR (D) T ATAR
................ creates liquidity.
(A) Organised market (B} Unorganised market
_ (C) Primary market : M Secondary market
2. e Frifiq sie & sraEr w@
(&) T A | (B) marﬁ‘ra WIR
© (a) 3K (B) GH (D) T & w7
verveeenn.. deals in new iésued-‘shares_
(A) Seconddry market . - /(Bj”’i’nmary market
(C) Both (A) and (B) (D) None of these
3. s w9 @ At H wg g R |
(A) 19889 (B) 19901
() 19927 (D) 1994 &
Legally SEBI was cstablishcd in
(A) 1988 (B) 1990
Jer” 1992 (D) 1994
25A/12/109 Page 3/ 30
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4. yra A wy RAufml e ufesy 2

Dig
(A) 3I=TA B A _
() am (D) @ré w78

The future of Stock Exchanges.in India is

[A)”/ bright (B) in dark

(C) ordinary (D)  no future
5. Rty iw ahfen’ gww & das #4982
(a) Tfeg sieer (B) Mo faferm I, Wve
(C) Fard famfes (D) o . qt, ani
Who is the writer of the book ‘Principles of Marketing’ ?
(A)  Philip Kotler | (B)  Prof. William J. Stanton
(C)  Richard Briskik - (D)  Prof. J. P. Verma .
6.  Ta9UR J@EuRn R
(A)  SererE (B et
€ uEEEE - D) @ wft
Marketing coﬁcept is |
(A)  production-oriented (B) sales-oriented
(C) customer-oriented (D) all of tﬁeée
7. fouvm @ om fEn mn a2
(A) =i - (B) S =g
(C) WEH W uR (D) TRfEEE
Money spent on marketing is
(A}  wastage (B) unnecessary expenditure
(C) burden on the customew investment
8. fauvr =g wR 2
(A) 3T o E (B) =gawifEi w
(C)  39arhI3T] W (D) T & st
[25A/12/109  Pagea 3
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Marketing expenditure is a burden on
(A} industry (B) businessmen
@ customers (D)  all of these
9. wwum ¥R fwmy
(a) e B) JEWEH
C) s (D) foenféar
For business, marketing is
@ ~ compulsory '_ ~ (B) necessary

(C) unnecessary | (D] luxury

10. oo yadw 1 e wEm aed R
(a) e | B) =fwrE kg
() Tusha gadq | uﬁ} = s
Costliest means of sales promotion_is -
(A)  Advertisement Personal selﬁﬁg
(C) Sales promotion ~ (D)  Public relations

11, vRgs waial w1 2
(a) . (B) Ui
© wbs D AW
Supervisor is ............. of_ the workers.
(A)  Friend ABT Guide

(O Philosopher (D)  All of these

12, o, e sl @ wafia )
® = B) Wow ww
© fEww D) A @R

[ 25A/12/109 Pans S35
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dircction is related to employecs.
(B) Middle level

(D)  All of these

............

(A) Top level
(C) Lower level

13.  wdaEv @
(A} AEHES (B) HTEIEh
(C) wwg & Faid) (D) ¥ A &g T
Supervision 18
{(Ar—"Necessary (B) Unnecessary

(C) Wastage of time (D) None of these

14, T N gy & feg w0 W EvESar gt 8 2

[21?!

(a) 3= | (B) #=H
© f= (D) ¥ & @
Direction is required at what level of management ?
(A) Top - (B) Middle
(C) Lower (D)  All of these
15. Fdwm w1 o
(A) gdamm L (B)  HAmTo
(C) g (D) ¥4 & |+t
Element of difection is
(A)  Supervision (B) Motivation
(C) Lcadefship (D)  All of these
16. R ymu®H ... 9 & Bl
(A) =R (B) i<
(C) F-safema (D) "SR
[ 25A/12/109 Page 6 / 32
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Direction is not the ............._. aspect of management.
(A} Practical (B) Theoretical
(€} Interpersonal (D)  Positive
17. e R
(A)  FfEd (B) IaTF
(C) IS D) Tmg € waid
Direction is
{_ﬁ/)k Compulsory | (B) Necessary
(C) Unnecessary (D) Wastage of time
18. da1 IdHE § % a1 2
(A wgEa B) 3=
(C) oW D) T & =+ T
The leader takes work from his subordinates
A~ by tact ' (B) byrod
(C}) by threatening - (D) none of thesé
19, GWAR GLYETEA § YTE H VAT €l @
(A) S H AN B) R 3
(C) |Hd &R W D) T 9wt
In horizontal communication flow of suggestion is
(A) upward (B) downward
(C) at parallel (D) all of these |
20, waraeg fgE R ST @
) PrewliEvewsigu (B) AW W@ YERuhl g
(C) J=an wWid yeusi gh1 (D) Wit Wil yeeuht g
25A712/109 Page 7 / 32
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Management control is donc by
{A) lower level managers
(B) middle level managers
(C) top level managers

(D}  all level managers

21, &Y &l B _
(A) @Y HH FE (B) U & FW @
(C) (A) 3 (B) gl | (D) 8 ¥ His T8l
Management is an art of

(A) doing work himself BT taking work from others

(C) both (A) and (B) (D) none of these

22. y=9 ) ypfa 8
(A) TeEkmFesd (@)  affashn F e d
(C) (A) 3R (B) T (D) ¥ & H¥ AL

The nature of management is

(A) as an inborn ability (B) as an acquired ability -

_ie"both (A) and (B) (D) none of these
23. ‘“‘waryu Al &1 fawm 8, 7 6 awgaat &1 Fdsmr 98 wua 2
(A) @Y U T HI (B) R, &, Ifew =
(©) HH @ mEfea (D) St AR, 0

“Management is the development of men and not the direction of
things.” This statement is of
(A) Lawrence A. Appley (B) R.C. Davis
(C) Keith and Gubelline (D)  George R. Terry
24 ﬁ;{ﬂiﬂ&ﬂ%ﬁﬁ?ﬂﬁmmﬂﬁm%
(A) tfas gaa 6 (B) nffs gaem )

(C) % ey H) (D) i & B xd
[25A/12/109 | e
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29.

26.

27.

28.

[217 ]
The foremost need in development of a country is of
(A)  Physical resources {B) Economic resources

(C) Efficient management (D) None of these

Y O AF InErae 8, it e aftufea @

(A) ¥ (B) #IfA

C) W= (D) Emf
Management is a delicate responsibility as it involves
(A)  Money (B) Machine

(C) Men | (D) Materials

wau 1 il 1 g o 2 aren e 2

(A) ﬁgﬁmm‘. - (B) AfmRo

© wweA L D) wEawE

Maximurm incentive giving function of management to employees is

(A) Staffing MOﬂvation

(C} Organisation (D)  None of these
Yo g & fhad T g ?

(A) 4 B) 3

C) 2 | D) 1

How many levels of management are there ?

(A) 4 —B—3

{C) 2 D 1

gu=g Tt fean wimar 2

(A) Bl & e (B) il ¥ men

(C) vou vE whuiE S 9w (D) T @ @h

25A/12/109 [
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Coordination is established
(A)  between groups
(B) between departments

(C)} between management and employees

/LBT/ all of these

29. THY @

(A) ufesw (B) TS

(C) IEES . (D) g ® w"id

Coordination is

(A) voluntary AB)"" necessary

(C) unnecessary -(D)  wastage of time -
30. S R, A0 F ITER &Y & wE §

(A) 2 | | (B) 4

) 6 (D) ¥ & % Tl

According to George R. Terry, the functions of management are

A) 2 (B) 4

(C) 6 (D) None of these
31. fawm & fafimi &

(A) TG B (B)  3eushlclld Urawmn

() =i w fawm (D) ¥ 8 &xfl

Method(s) of development is/are
(A}  position rotation (B)  short-term syllabus

(C)  development on the job (D) all of these

LR — e m——— e

| 25A/12/109 - Page 10 / 32
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32. wiver 6 RAfai @

(A) 4 geh wfeor B) wE W wfaw

(C) wiegar widrawr (D) ¥ &

Method(s) of training is/are

(A)  Job rotation training (B) On the job training

(C)  Apprenticeship lrajniﬁ@ All of these

33. fgfee 2
(a)  FEsE s B) Prmwwen
() -~ T wem (D) =aRRdl &) HR W ST
Staffing is
(A) toplan N (B) to control
| (C) todirert ’(,D)/ to appoint the persons on work

34, rftrmiiEt = g @
(A T Aol % sl @
- (B) "o Avft F AfeehEl w
(C) F=aw Fvft F il #
(D) THI R |
Selection of executives is |
(A) Lower level executives (B}  Middle level executives

(C) Top level executives (D)  All of these
35. b w1 3tw @

(A) YRYAfd H ATET - (B) 9§ fisyren
(©) @ A e (D) A wh
L?’SA/IQ/]OQ - . Page 11 / 32
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Objective of development is

[217 ]

(A) Opportunitics of promotion
(B) Better performance
{C) Increase in skills
(D}  All of these
36. WeUH A 2
(A) wE (B) w@mwh
(C) Hm@ (D) ¥ A HE A
The manager 1S
(A} Boss (B) Owner
,goy/f.eader (D) ‘None of these
37. a1 % urd @ O 2
(A) . IFaEiE (B) - Iitg=ie
) Tl (D) il |
The leader has ............. authority.
(A) Informal _4B1” Formal
(C) Personal (D) Government
38. 0N WNETE €l 8
a) IEgEiES (B) 3Iival=
() fafea (D) w0 @+ T
Grapevine communication is
,w/ Informal (B) Formal
(C) Written (D) None of these
| 25A/12/109 Page 12 / 32
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39. Fdm % yqm aw #
A) 2 - (B) 3
) 4 (D) 6
The main element(s) of direction is/are
(A) 2 (B) 3
€ 4 f (D) 6
40. THIHY WEY F ¥R 2
(A) = (B) wWeuH
© | () wHA WA
Supervision is the ............ level of management.
(A) Top - . (B) Middle
a /(ET/ Low (D)  All of these
41. v&4 = g 2 |
(A) T B) wrasier
(C) wEhife - D) wEE@h
Principle of management is
(A) Dynamic | (B) Flexible
(C}  Universal ,(B‘)“/ All of these
42.  IWH To9 Fa Jo g3 2
A 1913 (B) 1832
(€) 1903 (D) 1923
When was scienﬁﬁc management introduced ?
AT 1013 (B) 1832
(C) 1903 (D) 1923
| 25A/12/109 | Page 13 / 32
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a3, wid ¥ Igle € AR ol

(A) 8% (B) HATEA

() gola: swe (D) w & wrg A
Liberalisation policy in India has been

{A] " Successful (B) Unsuccessful
(C) - Total failure (D) None of these

44, WIS SR w1 P § @ - e g 2
(A)  ardemEe ¥ g Y anyfd
(B)  IuviehT wiavr AHfufaam
(C) W %1 wfyum
(D) wiEr i g
Which of the following is an example of social environment ?
(A) Money supply in the economy
(B) Consumer Protection A..ct
(C) Constitution of country |
(D) Composition of family
45. ogaEE % H1iiw IaE H wfed w1
(A) e Hife (B) a3 worreft
() anfdw fawm (D) ¥ § wfi
Economic environment of business is influenced by
(A) Economic policy (B) Economic system

(C) Economic development (D)  All of these

46, a2
(A) e (B) Iva e
(C) Wﬁﬁ?ﬁ_m . (D) % A
[25A/12/109 T T T Page 14732
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Planning is
(A)  Goal-oriented (B)  Objective-oriented
(C)  Mental process (D)  All of these
47. ﬁﬂ%ﬁﬁﬁﬁﬂ—ﬁﬁﬁﬁiﬁ#\m:ﬁﬁ%?
(A)  Ehiolr (B) u5g & aid)
(©) Fror w1 auR (D) 3rcafts @
Which of the following is not a limitation of planning ?
(‘5_} Rigidity (B) Wastage of time
z@ Basis of control (D) Huge cost
48. FEwE R
(A) EvES (B) 3IFEE® |
(€ wHaH wEid (D) o F F&id
Planning is '
Mgcessary (B) Unnecessary
(C) Wastage of time (D) Wastage of money
49. &9 H 7Y 2 |
A Pocaw Ao B)  wiiss $ sRwa 5@

(C) =aafeya s (D)

Budget refers to

(A) planned target of performance

TSI qioms w1 3t § e

(B) use of handling future activities

(C) systematic action

(D) statement of expected results expressed in numerical terms

50. fratew yaY &1 9T 3

(A) W B) wWem
€ fem D) I
| 25A/12/109
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S1.

12171

p of managcmcnt.

The planning is ............ ste |
(A First (B) Mcdium
-(Cl Last (D) Optional
s Suspn § i & s A @

(A) sgEE™ H w@YE F g9

(B) SO % qUIeH & TG

C) =& I<H

(D) few

In a business enterprise controlling is needed
(A)  at the time of establishment of business
(B)  at the time of operation of business-

(C)  at the end of the year

/(-Bl/c,ontinuously

52.  {Ag=wr yary %1 % 2
(A) wYq - B) fditg
© v D) =
Controlling is the ............ function of management.
(A)  first (B) second
(C}  third | ,(.D')"’ last

53.  wwrEl foreo 2
A) fer B) v Fuiig
C) TR (D) W@
Effective controlling is
(A} Static (B)  Pre-determineq
(C)  Dynamic | (D) All of these

25A/12/109 T
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54, TR wEwhw wr }
(A) Afvard (B) HEHEH
© s D) & w7
Controlisa ............... managerial function.
(A) compulsory (B) necessary
(C) optional (D) none of these
55. weh WNTE FraEu o aEEe At R
(A) EreeRs wedi H wf |
(B) HHETRE] s FAGH & FauA 4
(©) HEi H Furi % foia §
D) wEawht
An efficient control éystcm helps to
(A) | accomplish organisational objectives
(B) boost employees morale |
(C) judge accuracy of standards
M of these
56. TRl deht &1 | TE @ |
A ww e Bt (@) 3w
(C) v (D) .ﬂﬂﬁqﬂaﬂﬁﬁﬁﬁﬁﬁﬂqﬁm
The source of fixed capital is not
(A) Issue of debentures (B)  Issue of shares
, Creditors (D) Loan from IFCI
57. sy 1 sngfs freram R |
(A) I B IE HAT (B) Il &1 IWRT FTAT
© () 3 (B) I 0) T} B A
25A/12/109 . Page 17 / 32
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* :ment is
Modern approach of financial manast
(B)

(A}  procurement of funds
(D)

(C) both (A) and (B)
58. faefa waiy & qe w1 @
(A)  foritg fasA (B)
© wgem @ aEeA . (D) FHA N
Main function(s) of financial management is/are

(A) Financial planning

(C)  Allocation of net profit (D)  All of these

59. forfia yaue fofa aar 2
(a) o B fafEm
(C) wmME (D) @&
Financial manager takes decision as to

(A} Financial (B) Investment

(C) Dividend _@T" Al of these

60. - faeia wey 2
(A) . el B) fasm .
(C) %N T famm gHl (D) ¥ &%
Financial management is
(A)  Art (B) Science
(C) Both art and science (D) None of these
61. fardita seua i wemtm fararur &) wm R o

none of these

1§l JH HTAT

IZ-I?E

utilisation of funds

(B) Procurement of funds

(A) 1910-20%F (B) 1920-30 %
(C) 1930-40 % (D)  1940-50 %
[25A/12/109 Page 18 / 32
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62.

63.

| 25A/12/109

(217

Traditional approach of financial management was discarded

during

(&)  1910-207 (B) 1920-30#
() 1930-40# (D) 1940-50 #
ggg fadr Fratew ) fdiw 2

(A) AT (B) @&

) Tyasafian D) 3@ | wfl
Feature of sound financial planning is |

(A) Simplicity (B) Liqudity
(C) Economy - (D) Allof thése |
HRiYe Gft 1 Fafe 2 -
(A)  EET I AHR B) Pmto whea i sty

(C) &= AT Hl IueTsud (D) T A
Determinant of working capital is

(A)  size of enterprise

(B) period of manufacturing pmc_:'ess

(€) r;_w:alil:aft:oili.tyr of raw material

(D) all of these

64, ard 4ot ) sl Af

A) 2frF = T YraE FE F A
B) yh wle % fo

C) wi% il 3 fore

(D) SFERI 1 AW HA & fre

https://www.bsebstudy.com
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Fixed capital is required

(A)  For payment of routine expenses

{BL For purchasc of land

-H{C] For purchase of stock:

(D)  For payment to creditors

65. @iw fla w1 e 2
(A) @™ R T (B) ISl H Tl
(© Frh o o) wHawd
The determinant of bonus decision is

_{8)~~ Amount of profit (B) Liquidity of funds

(C) Age of the company (D) All of these

66. WRd ¥ qg1 g &1 Frg=m S = @ 2 |
a) Fa Rwm - B) Tod ¥ i sfosa
€ Tty ged (D) &
Who controls the money market in India ? |
(A) Finance Department ﬁ}/ RBI
(C} Financial Institutions (D) SEBI

67. WZI 4R F TSI T HH-U g ?
(a) St B) g |
(C) wIR <l %t (D) ¥ & #i¢ A
Which is the main problem of money market ?
) @ Lack of capital (B)  Hundi

(C) Lack of market (D) None of these

68. gl 9IIR SHAER HaT 8
(A)  HCUHTAH By (B) uwHAA #Iy
(C) Eelprella wy D) T & w9

[ 25A/12/109 j Page 20 / 32
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Money market deals in

(217 |

{A)  Short-term funds (B) Medium-term funds
(C) Long-term funds (D) None of these
69. w0A U wra #§ why Ryl 6t wem R
A} 21 (B) 23
€ 24 (D) il & W A
The number of stock exchanges in India at present is
@) 21 . AB) 23
) 24 ) ﬁ:)] none of these
70. Yol IR SEER AT B
(A) IATIHIH BN (B) HEIHIENA N
(C) Srelia wiw (D) 8 & B T2
Capital market deals in
(A) Short-term funds (B} Medium-term funds
(C) Long-term funds (D) None of these
71. FAYOR YOG SEURIT HI I W B
(a) TR B) IR
(C) ™ (D) SI9H
The birthplace of concept of marketing management is
(A) England America
(C) France (D) Japan
79. Wi ¥ Favive weor st i R
(A) 198614 (B) 1987 ¥
) 198814 (D) %W q =8 T8
Consumer Protection Act is effective in India from
(A) 1986 ,,.« 1987
(C) 1988 (D) None of these
[2s5A/12/109 | Page 21 / 32
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{217

e w sfufy & arla el @ A 2
(A)  IIIHI (B) T4 &R
(C) ¥ TR (D) ¥ 4 asft

. 3 means
Under the Consumer Protection Act, complainant
State Government

(A) Consumer (B)
(C) Central Government < (D)} All of these
74.  Fyen o9 fya@l &1 e = wwar

(A) 5 AE d%h (B) 10 @@ &
(C) 15 @@ d% (D) 1 %G T
District Forum cén settle disputes
(A) up to 5 lakhs (B) up to 10 lakhs
(C) up to 15 lakhs JD,]/ up to 1 crore

75. WA # %@ R-utwh T
(A) diE | (B) WA i
(C) (A) 3R (B) T (D) W E B3 T
Non-government organisation working in India is
(A) Voice (B) Common Cause
(C) Both (A) and (B) (D) None of these

76.  39diHl faarel & FaeR 61 arawn o & . |

#) wH-wi B) fi-wda
©) FR-wia (D) ¥ & s T
The machinery for settlement of consumer disputes is
(A) One-tier ~ (B) Three-tier
(C) Two-tier (D)  None of these

77. YRa A Iufal Rem sriwy @ R |
(A)  EBe (B) 3WFEA
(C) QYR &I adehd (D) A B

[ 25A/12/109 Page 22 ] 32
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(217 |
In India, Entrepreneurial Dey

clopment Programme has been
ok
{Al  Successful

(B)  Unsuccessfl
Need of improvement (D)

78. mﬁm%ﬁﬂ?mﬁ%nﬁm

None of these

% R 74 1 AL
(A) T (B)  THTEF
(€) AT (D) EEme

The attitude of Indian government machinery towards

entrepreneurial development programme is

{A)  Destructive (B) Negative

(C)  Constructive (D} Non-cooperative
79. WA Jufar foerg @R ot wemgan iy wi of

(A) HERIE "R gRI (B) TS "GRG

(C) W& We¥ WK g (D) afieHTg SR g1

Entrepreneurial Development Institute of India was established by

(A) Maharashtra Government
(B) Gujarat Government
(C) Madhya Pradesh Government

(D) Tamil Nadu Government

80. WRdw saftar fyee geum fua R

(A) - 3rEHeETe ¥ - (B) WA
) =R (O =Ed
Entreprencurial Development Institute of India is situated in
(A) Ahmedabad (B) Mumbai |
(C) New Delhi (D) Chennai
81, wq&aﬂ'@ﬁa%wm%g@ ........... *1 #
(A) S (B) 4
© 3 (D) ¥ 8 &% T
L25A712/109 Page 23 / 32
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n main functi
Koontz and ()'Donnﬂl, the ons o
According 1o oonltz
management arc
4
(A) S . (B)
) 3 (D) non€ of these
(C X
82wy wufg fasan s R
ey 09 ¥e94 g

(A) IFAH WHIG 999 g (B)
() = =iy yE g g (D) ¥ & Fie T
Coordination is established by

(A) Top level management

(B) Middle level management

(C) Lower level management

(D)  None of these

83. mﬁwﬁfﬁaﬂmﬁaﬁﬁ%ﬁmﬁm%
(A)  ‘shal ) FrEGHY & FRW (B) ﬁ%ma?rwmﬂﬁm

(C)  (A) 3R (B) g D) ¥ A *E Td
In the nature of social reépon—sibility of management applies the

rule of https://www.bsebstudy.com

(A) ‘Buyer beware’ (B)  ‘Seller beware’
(C) Both (A) and (B) (D) None of these
84. d9IF% oy § Ieared B 2
(A)  HAftrmag _ (B)  =raw
(C) Tm= D) ¥ ¥ 1§ 78
Production in scientific management jg
B Maximum (B)  Minimum
(C}  Normal
(D} None of these
| 25A/12/109 [ 7]
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85. @mﬁmﬁ%ﬁmm'mm’mwimﬁmw—ﬂ

mm"ﬁ‘mwﬁﬁsﬁwmt?

) @ (D) =EETE

Management should find ‘one best way’ to perform a task. Which

principle of scientific management is defined in this sentence ?

(A} Universal (B) Flexible
(C) Absolute (D) Behavioural
86. AW yEY ¥ g |
) EMEaR @) wf
(C) SRy D) T A W
By scientific management workers
(A) are benefitted - (B) _suffer loss
(C) arenot é_ffected (D) none of these
87. v wea § it # Bl |
) e - o® W
€ wwaETd D) T A % T
By scientific management praﬁilzs are
J-'t)/ Increased | (B) Reduced
(C) Not affected (D) Hone of these
g8, Azifrs vy A Al % S & gvdl § g
& T @) wh
(C) %M | (D) ¥ | wE TH
By scientific management Qork:ing hours of workers are
(A) increased (B) decreased
(C) not affected (D) none of these
(257127109 Page 25 / 32
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39, Awifre wey A I H
A) 18 W TE B 2 (B) s g 8
(©) a2 o) e R

By scientific management consumers
suffer exploitation

(A) are not affected (B)
(C) are benefitted (D)  suffer loss
90, WU ey % yEgasdl o
(A HEE (B) W
©c 0 (D) 39 @ W TR
The propounder of administrative management was
,,.m-”"Fayol _ (B) Taylor
(C) Terry | (D) None of them
01, ‘Pl wfre 5 vsd ¥ frg s man i 1" TR He Fhew 2 2
(a) B) T
(C) WeH (D)
“A plan is a trap to capture the future.” This statement is of
(A) Newman _' (B) Hurley
ﬁ;\ Allen ' (D} Terry
92, T e e Rt A A
(A) hHTH® (B) 3FIvwenfEm
(€ =i D)
............... organisation is automatically formed.
(A) Functional (B) Informal
(C) Formal (D) Divisional
[25A/12/109J Page 26 / 32
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g3, e SIS H qa 9 A 2

A) :

( Moafes (B)  tuaf

() Tovmhy (D) wmtes

There is no favourtism in . organisation.

(A) Formal (B} Informal

(C) Departmental (D) Functional
o4. TR oY TrwmT e Bk e 2

(A)  sho=Ties e (B) HrieHb A

(C)  IFT=TIE |ireA (D)  Teeftr wmed

e dEpenﬁs upon the sweet will of the employees.

[A]. Formal organistion (B) Functional organisation

(C) Informal organisation (D) Departmental organisation
95.  IHT=TiE e Hi g § HAfHR B 2

(a) . fobfea | (B) H=a

() wuFA &9 ¥ fafa (D) ¥ A B

In ca;sc of informal organisat_ion authorities are

(A) Decen_tra]ised ~(B) Centralised

(C} Equally distributed (D) None of these
06, e WA F B &

@ 2 ' B) 4
) 6 | (D) 8
The organisational steps are

(A) 2 (B) 4
c o (D) 8

1 25A/12/109 | Page 27 / 32
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97. WA ¥ weigwHa § FEe @ w wite §
(A)  JuTeay (B) ITGH FAEE
C) Y™ vhaew s (D) sl AR e
............. comprises lower level in hierarchy of the organisation.
(A)  Vice-President (B) Production Manager
(C)  Chief Operation Officer (D) Foreman and Supervisor
98. WS WA B BN et R
(A)  wiafftnroee 6 i (B) wey Ht arafy
() wu=iE H g (D)  FfET
............. gives shape to the organisational structure.
(A) Extent of delegation (B) - Span of managemeillt
(C) Number of employees (D) * Planning
99. Tl w1 wieor @
(A)  EvEw . (B) IAEES
) fad (D) wA & g=id)
Training of employees is _ '
Necessary - (B) Unnecessary
{C) Compulsory | (D) Wastage of money
100. wfafEl & e § oy
(A) Gt (B)  TUFT=]
() wfEo (D) T A e
Development of employees involves
(A) Promotion . (B) Transfer
(C) Training (D)  All of these
| 25A/12/109 Page 28 / 32
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'Y - / SECTION-B
|Y I W¥ / Short Answer Type Questions
W ¥ET 18 30 ¥% Fy iy &)y @ A 15 oyt & gav & oRim &

ke 2 3w faifta ¢ 18 x2 =30
Question Nos. 1 to 30 are Short Answer Type. Answer any 13 questions.

Each question carries 2 marks. : 15x2 =30
1. ¥ 3w ey st § 7 |

Is scientific management inhumane ?

2. oHaEE ¥ HLH I A w2 e R e

What is the role of legal environment in business ?

3. SEEiyE IrEw 6 afor G
__ Define business environment.
74, ) R a9 e e § 2 |
What do you mean by delegﬁtion of authority ?
5. g aun R § R we Hif) |
Distinguish between Training and Development.
6. v o by v
“Managcmcxit isa profession.;’ Discu.s.sh |
A7 i @ s wEd E e
| ’. What do you mean by feedback ?
8. weh Prem B et fefew
Wriic two advantages of budgetary control.
9. wuedl fraw & ol w avl =)

Explain the technique of budgetary control,

| 25A/12/109

Page 29 / 32

https://www.bsebstudy.com


https://www.bsebstudy.com/

10. 4ot ssfem /m @ 2

What is capital budgeting ?
11, @t % Reffess va) % vl a3
Explain in brief the secondary objectives of SEBI.
12. NAd@HLad s
What is OTCEI ?
IUNITHT WY & T ) qHeEa|

Explain the importance of consumer protection.

et &t e e =1 ae T g 2

N
-

st
»

15. ) g don % B IgEw )
State two examplés of non-monetary incentives.

16. V&Y % HEed & qUH &1

Explain the importa.ﬁce of management.

IF- yoY & 6 Q wEl ® warsd|
State any two functions of top level management.

Fﬁw—’i@mwi?

18
, What is scalar chain ?
ﬁﬁx\jﬂuﬁm%mmmﬁﬁl |
TN Explain the importance -of planning,

@ﬁﬁ@ﬁﬁﬁﬁm@zﬁu
| 21.

Distinguish between objectivés and policies.
FAraTiE ST ¥ w1 At @ 7

What is meant by informal organisation ?

wdl & arrafte wdl &1 9uH Hi

Explain the internal sources of recruitment.

(217

Why is entrepreneurship regarded as a creative activity ?

[254/12/109 J
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What is informaj communication ?

24, iﬂ‘mm%ﬂammﬁﬁql

Distinguish between Leader and Manager.

25, P e F w0 w3 v a1 b o

» How does the control simplify the task of a supervisor ?

26. wrdfe ot w1 W s 2 2

What is meant by working capital ?

27. ol vy & v s 2 0

. What is meant by Financial Management ?
28.° faare wd =fRema fasa i o e W) | |
" Distinguish between Advertisement and' Personal se]lmg

29, wifew R & gewt ) w8y § TwEmE)

~~, Explain in brief the components of physical distribution.

'30. IR gea Hfufm wn R 7

What is Consumer Protection Act ? ‘
| ﬁﬁ.ﬂﬂﬁm / Long Answer Type Questions
W WET 31 ¥ 38 Y I W ¥ | T A Pt 4 vt ¥ I ¥ wRm %
fore s o Preffa 3 | 4x5=20

Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions.
h question carries 5 marks. https://www.bsebstudy.com 4x5=20

!;-"’31, T F WP vou F g #) wwene)

Explain the principles of scientific management of Taylor.

"32. Hife v wrifaft o eE I e

Explain the policies and procedure by giving suitable examples.

25A/12/109
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38.

[217 ]
$e o R % d R EE R

isati isation.
Distinguish between centralisation and decentralisat

ﬁﬁ%ﬁwﬁmmmﬂﬁ?wwmémmmﬂﬁmﬂ%?

What do you mean by staffing ? Is it a part of Human 'Resource

Management ?

Va4 T Aqed H R T hifor|

Distingﬁish between Management and Leadership.

T fen @ Pfga fafia wert =t gl

Explain the various steps involved in the process of control.
TS D AT & U HI qUA B

Explain the qualities of a good leader.

wftrer it fafrat 1 fad=mn ik

Discuss the methods of training.
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